S == K 26
ﬁj\ @@ @ Multiply decimals by powers of ten

Name: Date: Score:
7.208 x 10000 = 6.737 x 1000 =
2.386 x 10000 = 7.648 x 100000 =
6.347 x 1000000 = 9.119 x 10 =
5.946 x 10000 = 5.714 x 10000 =
9.239 x 10000 = 8.835 x 100 =
6.613 x 100000 = 5.177 x 10000 =
1.005 x 1000000 = 10.939 x 100000 =
8.309 x 10000 = 5.264 x 10000 =
1.713 x 1000 = 9.302 x 100 =
6.868 x 1000000 = 3.736 x 100000 =
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Multiply decimals by powers of ten

7.208 x 10000 = 72080

2.386 x 10000 = 23860

6.3477 x 1000000 = 6347000

5.946 x 10000 = 59460

9.239 x 10000 = 92390

6.613 x 100000 = 661300

1.005 x 1000000 = 1005000

8.309 x 10000 = 83090

1.713 x 1000 = 1713

6.868 x 1000000 = 6868000

Date: Score:

6.737 x 1000 = 6737

7.648 x 100000 = 764800

9.119 x 10 = 91.19

5.714 x 10000 = 57140

8.835 x 100 = 883.5

5.177 x 10000 = 51770

10.939 x 100000 = 1093900

5.264 x 10000 = 52640

9.302 x 100 = 930.2

3.736 x 100000 = 373600
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